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Question Number : 1 Question Id : 64635023575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635092539, 1
64635092540, 2

64535092541, 3
645350392542, 4

Question Number : 1 Question Id : 64635023575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535092539, 1
64535032540, 2
64835092541, =2
64535092542, 4

Question Number : 2 Question Id : 64635023576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535092542, 1
E4E35092544. 2
E4535092545. 3
BAE3509254E6. 4



Question Number : 2 Question Id : 64635023576 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535092543, 1
645350392544, 2
64535092545, 3
EAEZ509254E. 4

Question Number : 3 Question Id : 64635023577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

64535092547, 1
64535092548, 2
E4E35092549. 3
E4E35092550. 4

Question Number : 3 Question Id : 64635023577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092547, 1
645350392548, 2
64535092549, 3
E4E35092550. 4

Question Number : 4 Question Id : 64635023578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535092551, 1
64535092552, 2
64535032553 2
64535032554 4

Question Number : 4 Question Id : 64635023578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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CAE2E092E5].
64635092552,

E4E35092553.
BA535092554.
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Question Number : 5 Question Id : 64635023579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535092555, 1
64535092556, 2
E4E350392557. 3
EAE35092558. 4

Question Number : 5 Question Id : 64635023579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535092555, 1
64535032556, 2
64835092557 2
E4E35092558. 4

Question Number : 6 Question Id : 64635023580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535092555, 1
64535092560, 2
645350392561, 3
64535092562, 4

Question Number : 6 Question Id : 64635023580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092555, 1
645350392560, 2
64535092561, 3
EABZS092562. 4

Question Number : 7 Question Id : 64635023581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350392563, 1
64535092564, 2
EAEZ50392565. 3
EAE35092566. 4

Question Number : 7 Question Id : 64635023581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35092563. 1
64535092564, 2
645350392565, 3
64535092566, 4

Question Number : 8 Question Id : 64635023582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535092567, 1
EAE35092568. 2
E4E35092569. 3
BAE35092570. 4

Question Number : 8 Question Id : 64635023582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35092567. 1
B4E535092568. 2
B4E535092565. 3
645350392570, 4

Question Number : 9 Question Id : 64635023583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535092571, 1
4535032572 2
64535032573 2
64535032574 4

Question Number : 9 Question Id : 64635023583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B4E535092571. 1
64535092572 2
64535092573, 3
EAE35092574. 4

Question Number : 10 Question Id : 64635023584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

64535092575, 1
64535092576, 2
E4535092577. 3
EAE3509257E. 4

Question Number : 10 Question Id : 64635023584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535092575 1
64535032576, 2
4535032577, o
64535032578, 4

Sub-Section Number: 2
Sub-Section Id: 6463501161
Question Shuffling Allowed : Yes

Question Id : 64635023585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635023586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35092575. 1
EAE350392580. 2
E4E35092581. 3
EAE3509258%. 4

Question Number : 12 Question Id : 64635023587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350392583, 1
E4E35092584. 2
EAE35092585. 3
EAE35092586. 4

Question Number : 13 Question Id : 64635023588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

64535092587, 1
64535092588, 2
64535032589 2
64535032590, 4

Question Number : 14 Question Id : 64635023589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35092591. 1
EAE350925392. 2
B45350925583. 3
64535092594, 4

Question Number : 15 Question Id : 64635023590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535092595, 1
E4E35092596. 2
64535032597, 5
64535092598, 4

Question Id : 64635023585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension
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Sub questions

Question Number : 11 Question Id : 64635023586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092579,
64535092580,
4835092581,
4535092582,
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Question Number : 12 Question Id : 64635023587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092583, 1
4835092584, 2
E4E35092585. 2
64535032586, 4

Question Number : 13 Question Id : 64635023588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092587, 1
64535092588, 2
64535032589 2
64535032590, 4

Question Number : 14 Question Id : 64635023589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35092591. 1
EAE350925392. 2
B45350925583. 3
64535092594, 4

Question Number : 15 Question Id : 64635023590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835092595, 1
64535032596, 2
64535032597, o
64535032598, 4

Sub-Section Number: 3
Sub-Section Id: 6463501162
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635023591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535092599, 1
E4E35032600. 2
E4E350392601. 3
BAE3503926802. 4

Question Number : 16 Question Id : 64635023591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535092599, 1
E4E35092800. 2
4535092801, 2
4535032602, 4

Question Number : 17 Question Id : 64635023592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
435032603, 1

E4E35092604. 2
EAE350392605. 3
EAE3509Z2606. 4

Question Number : 17 Question Id : 64635023592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E25092803. 1

EAE350392604. 2
E4E35092605. 3
EAE35032606. 4



Question Number : 18 Question Id : 64635023593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635092607, 1
435092608, 2
E4EZE092809. 2
4235092610, 4

Question Number : 18 Question Id : 64635023593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092607, 1
4835032608, 2
64535032609, 5
4535032610 4

Question Number : 19 Question Id : 64635023594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
4535092611, 1

EAEZ5092612. 2
E4E35092613. 3
EAE35092614. 4

Question Number : 19 Question Id : 64635023594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35092611. 1
EAE35092612. 2
64535032613, 3
645350392614, 4

Question Number : 20 Question Id : 64635023595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535092615, 1
645350392616, 2
64535092617, 3
EAEZ509261E. 4



Question Number : 20 Question Id : 64635023595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535092615, 1
E4E35032E1E. 2
EAE35092617. 3
E4E5350926158. 4

Question Number : 21 Question Id : 64635023596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

B4535092615. 1
64535092620, 2
645350392621, 3
EABE3S092622. 4

Question Number : 21 Question Id : 64635023596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535092619, 1
EAEZ5092620. 2
EAE35092621. 3
BAEZS092622. 4



Question Number : 22 Question Id : 64635023597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

EAE35092623. 1
EAE35092624. 2
64535092625, 3
E4E3509262E. 4

Question Number : 22 Question Id : 64635023597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535092623, 1
64535032624, 2
4835092825 2
E4E35092E26. 4

Question Number : 23 Question Id : 64635023598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

E4535092627. 1
EAE3S09262E. 2
EAE35092629. 3



EAE35032630. 4

Question Number : 23 Question Id : 64635023598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

E4535092627. 1
E4E35092628. 2
EAEZ5092629. 3
EAE35092630. 4

Question Number : 24 Question Id : 64635023599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535092631, 1
E4535092632. 2
E4E35032E633. 3
EAE35092634. 4

Question Number : 24 Question Id : 64635023599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535092631 1

E4EZ5032632. 2

E4E250326335. 3

64535032634 4

Question Number : 25 Question Id : 64635023600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350392635, 1
EAE35032E636. 2
EAE3IS09263Y. 3
EAE35092638. 4

Question Number : 25 Question Id : 64635023600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535092635, 1
64535032636, 2
64535032637, 2
48350392638 4

Question Number : 26 Question Id : 64635023601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



EAE35092639. 1
64535092640, 2
64535092641, 3
645350392642, 4

Question Number : 26 Question Id : 64635023601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535092639, 1
E4E35032640. 2
4535092841, =2
4535032642, 4

Question Number : 27 Question Id : 64635023602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535092643, 1
E4E35092644. 2
64535032645, 5
4535032646, 4



Question Number : 27 Question Id : 64635023602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
4535092643 1

E4E35092644. 2
E4E35092645. 3
EAE3509264E6. 4

Question Number : 28 Question Id : 64635023603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35092647. 1
64535092648, 2
645350392649, 3
645350392650, 4

Question Number : 28 Question Id : 64635023603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

4835092647, 1
E4E35092848. 2
64535032649, o
4535032650, 4

Question Number : 29 Question Id : 64635023604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35092651. 1
EAE35092652. 2
B4535032653. 3
645350392654, 4

Question Number : 29 Question Id : 64635023604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i
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oe fea o g 421 | 2
T,
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Options:
4235092651, 1

EAE35092652. 2
B4535032653. 3
E4535092654. 4

Question Number : 30 Question Id : 64635023605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350392655, 1
E4E3509ZE65E. 2
EAE3S092657Y. 3
E4E35092658. 4

Question Number : 30 Question Id : 64635023605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535092655, 1
645350392656, 2
64535092657, 3
EAEZS09265E. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501163
Question Shuffling Allowed : Yes

Question Id : 64635023606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635023607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E35092659. 1
B4E35092660. 2



EAE350926E61. 3
BAE3S09Z662. 4

Question Number : 32 Question Id : 64635023608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

EAE35092663. 1
E4E535092664. 2
645350392665, 3
E453509266E. 4

Question Number : 33 Question Id : 64635023609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

BAE35092667. 1
64535092668, 2
E4535092669. 3
EAEZS092670. 4

Question Number : 34 Question Id : 64635023610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535092671, 1
E4E35092672. 2
EAEZS09267 3. 3
EAE35092674. 4

Question Number : 35 Question Id : 64635023611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835092675, 1
E4E35092E7E. 2
4535032677, o
4535032678, 4

Question Id : 64635023606 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535092659, 1
64535032660, 2
64535032661, =
E4E35032662. 4

Question Number : 32 Question Id : 64635023608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535092663, 1
4535092864, 2
64535032665, 5
4535032666, 4

Question Number : 33 Question Id : 64635023609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535092667, 1
4835032868, 2
4535092869 2
4535032670, 4

Question Number : 34 Question Id : 64635023610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535092671, 1
64535032672, 2
E4E350328732. 2
E4E35092874. 4

Question Number : 35 Question Id : 64635023611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535092675, 1
64535032676, 2
64535032677, 2
E4E35092678. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501164
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635092679, 1

EAE35092680. 2
EAE35092681. 3



EAEZIS092682. 4

Question Number : 36 Question Id : 64635023612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
EAEZE092679.

EAEZS092680,
EAE35092681.
BAE3S092682,

[ N

Question Number : 37 Question Id : 64635023613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35092683. 1
E4535032684. 2
E4E53503926885. 3
64535092686, 4

Question Number : 37 Question Id : 64635023613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4EZE092683. 1

EAE35032684. 2
E4E35092685. 3
EAE35032686. 4

Question Number : 38 Question Id : 64635023614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35092687. 1
E4E35032688. 2
E4E5350392685. 3
64535032630, 4

Question Number : 38 Question Id : 64635023614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535092687, 1
4835032888, 2
4535092889 2
64535032690, 4

Question Number : 39 Question Id : 64635023615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503926391, 1
E4535092632. 2
E4E350926393. 3
EAE350926394. 4

Question Number : 39 Question Id : 64635023615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535092691, 1
64535032692, 2
64535032693 2
64535032694, 4

Question Number : 40 Question Id : 64635023616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E350926585. 1
EAE350926396. 2
EAE350926597. 3



EAE35092639E. 4

Question Number : 40 Question Id : 64635023616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535092695, 1
64535032696, 2
64535032697, 2
48350392698, 4

Question Number : 41 Question Id : 64635023617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B45350926595. 1
64535032700, 2
645350392701, 3
EAE35092702. 4

Question Number : 41 Question Id : 64635023617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

45350926990, 1
4535032700, 2
64535032701, =
64535032702, 4

Question Number : 42 Question Id : 64635023618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

435092703 1
64535022704, 2
64535032705, =
64535032706, 4

Question Number : 42 Question Id : 64635023618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535092703, 1
4835032704, 2
4535092705 2
4535022706, 4

Question Number : 43 Question Id : 64635023619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

B4E35092707. 1
64535032708, 2
64535032709, 3
64535092710, 4

Question Number : 43 Question Id : 64635023619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535092707, 1
4535032708, 2
64535032709, 2
64535032710, 4

Question Number : 44 Question Id : 64635023620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35092711.1
EAE35092712. 2
B4E35092713. 3
64535092714, 4

Question Number : 44 Question Id : 64635023620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635092711, 1
64535032712 2
64535032713 2
4835092714 4

Question Number : 45 Question Id : 64635023621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635092715, 1
4835032716, 2
64535032717, 5
64535092718, 4

Question Number : 45 Question Id : 64635023621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635092715, 1
4835032716, 2
64535032717, 5
64535092718, 4

Question Number : 46 Question Id : 64635023622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535092719, 1
EAEZ5092720. 2
BAE35092721. 3
BAEZS092722. 4



Question Number : 46 Question Id : 64635023622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
E4E250927159. 1

EAEZ5092720. 2
BAE35092721. 3
BAEZS092722. 4

Question Number : 47 Question Id : 64635023623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535092722, 1
EAEZ5092724. 2
EAE35092725. 3
BAE35092726. 4

Question Number : 47 Question Id : 64635023623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

BAE35092723. 1
64535092724, 2
64535092725, 3
EABE35092726. 4

Question Number : 48 Question Id : 64635023624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
G4E35092727. 1
64635092725, 2

64535092729, 3
645350392730, 4

Question Number : 48 Question Id : 64635023624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EIL03272Y.

EAE3S09272E.
EAE35092729.
EAE35092730.

[ N

Question Number : 49 Question Id : 64635023625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535092731, 1
64535032732, 2
483503927332 2
45350927324 4



Question Number : 49 Question Id : 64635023625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635092731, 1
4535032732 2
64535032733, 2
64535032734, 4

Question Number : 50 Question Id : 64635023626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35092735. 1
EAE350392736. 2
BAE35092737. 3
64535092738, 4

Question Number : 50 Question Id : 64635023626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefiga | o ®9-o1 o gaq o = 9y w1 3 sarefEa w27

(1)  wrefae SEIEH] 6 ~gHad 3T

(2)  WrHaH SEIEA] F AT T F o 3w

@)  wrhfae GEEHl =R I Sl w3 s i difei % kg 3reed 7
(4) A wHfaw qEeAT B wis sl fifedl % fav adEe s

Options:

64535092735, 1
4835032736 2
E4E35092737. 2
64535022728, 4

PART 11 22 Chunese

Section Id : 646350484

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section | d: 6463501165
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635023627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“FFe—x” REBEZEITA:

1) P HE
2)
3) HAE
4) s

Options:

64535092739, 1
E4E35092740. 2
4535092741, 2
4535032742, 4

Question Number : 51 Question Id : 64635023627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FFe_x” 2EBEZEITA:

1) P HE
2)
3) A&
4) Fihnsk

Options:

64835092739, 1
4535092740, 2
64535022741, 5
4535032742 4

Question Number : 52 Question Id : 64635023628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2018 F -SRI E

1) MR
2) =W
3) ik
4) 75K

Options:
E4E35092743 1

E4E35092744. 2
E4E35092745. 3
BAE3509274E6. 4

Question Number : 52 Question Id : 64635023628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2018 & A48 HEF Lk ML TH:

1) Ik
2) =&
3) itk

4) 75K

Options:

64535092743, 1
64535032744, 2
64535032745 2
4835092746, 4

Question Number : 53 Question Id : 64635023629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2011 £ L&V REE R S55S A4 EBRBE LK b E:

1) 2018 F—H
2) 20184 _H
3) 2018 = A
4) 2018 U H

Options:

E4E35092747.
4535092748,
4535092749,
64535092750,

[ N

Question Number : 53 Question Id : 64635023629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
2011 4 L & U REBEER BHHS AL ERBE LK FEPE:

1) 2018 E—H
2) 2018 —_H
3) 2018 &= A
4) 2018 €U A

Options:

4535092747, 1
64535032748, 2
64535032749, 2
E4E35092750. 4

Question Number : 54 Question Id : 64635023630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THIBAHRENFEA R SR E -

1) #Z4ts E4£EH]

2) & HHE

3) LeHR

4) BHIEX B e{ERE

Options:

64535092751,
E4E35092752.
4535092753,
64535092754,

o LIPS

Question Number : 54 Question Id : 64635023630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THIBAHRENFEARBRE

1) t#Z4ty EEH]

2) £ A HE

3) LeHR

4) HIE X BEe{ERE

Options:

64835092751, 1
E4E35092752. 2
64535032753, o
4535032754, 4

Question Number : 55 Question Id : 64635023631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o & R At R SR A R

1) 1999 4
2) 2001 £
3) 2003 £E
4) 2005 4E

Options:

64535092755, 1
64535032756, 2
64535032757, 2
E4E350392758. 4

Question Number : 55 Question Id : 64635023631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o [ IR R Ayt B 2 AL Al R

|23

1) 1999 4
2) 2001 £
3) 2003 £E
4) 2005 £

Options:

4535092755, 1
64535032756, 2
64535032757, 2
64535032758, 4

Question Number : 56 Question Id : 64635023632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



R I DX - 1'F Fox B AR 4F 3 31

1) 1983 4
2) 1985 %
3) 1984 4
4) 1986 =

Options:

64835092759, 1
E4E350927E0. 2
64535032761, o
4535032762, 4

Question Number : 56 Question Id : 64635023632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FA I DX 3551 F Fix B AR 4F 3 51

1) 1983 £
2) 1985 %
3) 1984 4
4) 1986 £

Options:
435092759, 1

EAEZ5092760. 2
EAE35092761. 3
BAE35092762. 4

Question Number : 57 Question Id : 64635023633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 7 BUE TR & 4 -

1) 2005 £
2) 2006 £
3) 2007 &
4) 2008 £

Options:

BAE350927E3.
645350392764,
64535092765,
EAEZS0927EE,

Question Number

1
2
=
4

: 57 Question Id : 64635023633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1t 7 BUE LR & 4 -

1) 2005 £
2) 2006 £
3) 2007 &
4) 2008 £

Options:

BAE350927E3.
645350392764,
64535092765,
EAEZS0927EE,

Question Number

o IR

: 58 Question Id : 64635023634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



|

?

t[E 2 T HR B RALE 7

1) YE#AT

2) AT

3) MR FERAT
4) BRMARAT

Options:

4835092767, 1
E4E350927EE. 2
64535032769, o
4535032770, 4

Question Number : 58 Question Id : 64635023634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

th B F AR AR T 2 R

|

?

1) AT

2) AT

3) LMK BRIT
4) BRMERAT

Options:

E4E350927E7. 1
64535032768, 2
4535032769, o
64535032770, 4

Question Number : 59 Question Id : 64635023635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ri-EF “RMEEIER” SFEMEREAT:

1) 2017 £
2) 2016 £
3) 2015 %
4) 2018 4

Options:

EAE350392771.
BABZIS0927 72,
BAE35092773.
E453509277 4.

Question Number

1
2
>
4

: 59 Question Id : 64635023635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Rid->EF “RNEAEIER” SREWERAT:

1) 2017 &
2) 2016 £
3) 2015 £
4) 2018 £

Options:

645350392771,
EAB3S092772.
EAE3S09277 3.
BAEZS0927 74,

Question Number

[ N

: 60 Question Id : 64635023636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



B 22 [8] B3R X Ff R E A A 2

1) 2013 £F
2) 2015 £
3) 2017
4) 2019 %

Options:

BAE35092775.
EA53509277E,
EAE35092777.
EAEZS0927 78,

Question Number

1
2
=
4

: 60 Question Id : 64635023636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

B HR 22 8] B3R BAX Ff R E A 4 7

1) 2013 4E
2) 2015 £
3) 2017 &
4) 2019 4

Options:

BAE35092775.
EA53509277E,
EAE35092777.
EAEZS0927 78,

Question Number

o IR

: 61 Question Id : 64635023637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



it R B A B & B2

1) 1941 %
2) 1943 £
3) 1945 %
4) 1947 &

Options:

64535092779, 1
4835092730 2
4535092781, 2
4535022782, 4

Question Number : 61 Question Id : 64635023637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s R B B B S B2

1) 1941 %
2) 1943 £
3) 1945 %
4) 1947 &

Options:

64535092779, 1
4835092730 2
4535092781, 2
4535022782, 4

Question Number : 62 Question Id : 64635023638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1962 £ & £ R R U RETH R EME R B R{EH X R

1) 1975 %
2) 1976 £
3) lo77es
4) 1978 &
Options:
CAE3IE0927E2 1
cAEZE0927E4d. 2
LAEZEE0927FEE 2
CACIE0927VEG. 4

Question Number : 62 Question Id : 64635023638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1962 &£ & £ R R U RETH AR EME R E R{EH X R

1) 1975 4
2) 1976 &£
3) 1977 £
4) 1978 &

Options:

64535092783, 1
E4E3503927E4. 2
4535092785 2
4535032786, 4

Question Number : 63 Question Id : 64635023639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T E 0GR 1949 S5 i AR B iR i B 73K

1)  RE

2) HHE
3) #¥H

4) ENE

Options:

64535092787, 1
64535032738, 2
E4E35092729. 2
4535092790, 4

Question Number : 63 Question Id : 64635023639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A E 202 1949 E45 i A R AER E i iR B B A AN ?

1) RE

2) @JH
3) EE

4)  ENE

Options:

64535092787, 1
64535032788, 2
48350392729, 2
4535092790, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501166
Question Shuffling Allowed : Yes



Question Id : 64635023640 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (64 to 68)
Juestion Label - Comprehension

A F5aiA, 2019 FRPEARKME KL 70 FFE, REEEA/DFAT
. MBI EFE B RELE. WNEHEHEHR2EMN™E5R,
BREEHE S E MR BB WA R B M. SHEFRULIR H 6 TUES. —&IR
AT SRR AU RE®, AlatcEERE. BRFAFNAPESFR
e LERRELN, @FENRSR, MKERE. A REK
PREEH 2R 2 EOT, BREEPRENREBZIWE, BEH
mEMRAZIE, BREPRSITHIE. RMRENBIRER, Rk
EREPR—. THIE. ERUBELHEE TREABISEFEE TEN,

REBRBEOREABUEAMN. BEABEREN. BEREXENERE
%o FHXEWITEZE (BA) BEBRTIARE, EURAEN. ERE
XHahAFRN, ELHARERNBGEN. =Z2AHNRIERN, FEOLH
TISENE. BENE “TR” AR R OCRONERSERE, WERE
M BEEZREENRE S ZERRAT, & R BERR R ZEN %
Biit. PUARRAERR, TE ARG T

Sub questions

Question Number : 64 Question Id : 64635023641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



W0I9F—F—TEHFFIHB____ .

1) K@=

2) BEREES—

3) EBEMXmNEZ—

4) RFHERZE

Options:

EAE35092791.
BAE35092732,
645350392733,
64535092734,

Question Number

1
2
=1
4

1 65 Question 1d : 64635023642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

ST AR SR E B

1) 4 I

2) b5

3 6

4) 7

Options:

645350392735,
EAE3509279E6,
EAE3IS0927397.
EAE350927398.

Question Number

R

b=

[ N

: 66 Question Id : 64635023643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



TEHEMNDEMES . EUF T EFESEIFNREIFER:

1) 20194

2) 2020 %

3) 2021 4

£ gognse
Options:

645350927399, 1
E4E350392800. 2
E4E35092801. 3
BAE350392802. 4

Question Number : 67 Question Id : 64635023644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AEFRR Y 6 RS EAp, FE—TEHL:
1) IREABUE R

2)  SHMRER, [0

3) IRARAIESE R T

4) BREBRBEMK

Options:
435092503 1

E4E35092804. 2
E4E350392805. 3
EAE350392806. 4

Question Number : 68 Question Id : 64635023645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“TIR” 1EA:

1) AEEOCRONEREER

2) EBERTEMATAE 2020 FEETERRE
3) ALl RAER B

4) EBREXFHHEHFRAEZRN

Options:

E4E35092807. 1
4535092808, 2
64535092809, 5
64535032810, 4

Question Id : 64635023640 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (64 to 68)
Juestion Label | Comprehension



AL F5RiE, 2019 F&PEARISMEMIL 70 B, £2HE /DT
=, FUE-ITEFEE} ERREZE, WNZREHEH 2N ™ER,
g e i MU BCR WA R B k. ST FRUBIR H 6 BUES. —RIR
ARMELRHT ARG, Al E RS, ERRANNAF ERE
o E EERE LM, &F R F, INKERE. SRTAREK
PREERH AF AR T2 EON T, BFEPRENRKHZIWME, BH
REMBRHIIWE, BEREPRSTEL. ZRMEENBURRR, Rk
EREFHE—. LTHILE. ERNELHEE T RABUREEE TEN,

REBRERAZABIE . BIEABEAEN. BEREUEAERE
Fo FHMEXZWIIRE (BH) EBITEATME, BNBRREN. EFE
XFrshFHERN, EHARERANOREERE. =Z2LAHNRER, RO
LI BIENE “HIR” AEARE R ORONERER, NFERE
o BEEZRFENPEZFELBIT, X “WR” BRARRHshE =2
By, DU2RRERR, TLE & RS EMF .

Sub questions

Question Number : 64 Question Id : 64635023641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

019 FRE-TEFEEI}ER_____ .
1) KEZHF

2) BEEZE—

3) RBUmREZ—

4) FHEBRZE

Options:



E4E350927391. 1
BAE350927382. 2
B4E5350927383. 3
645350392734, 4

Question Number : 65 Question Id : 64635023642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

STEFREJIRER?
1) 4T
2)  b5IN
3) 61
4) TN
Options:

645350927351
E4535092736. 2
EAE350927397. 3
EAE35092738. 4

Question Number : 66 Question Id : 64635023643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THENDERS. EMF T EFEFEIFNRBIER:

1) 20194

2) 2020 %

3) 2021 &

£) 2990
Options:

EAE35092795. 1
E4E35092800. 2
64535092801, 3



EAE350392802. 4

Question Number : 67 Question Id : 64635023644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SHEFRUGIR I 6 LSS HP, F—IE%H2:
1) isemEIENE B

2)  SABMBRIER, RLIsEIME

3)  IRARMELER T KREH

4)  BHRIEIEEM

Options:

64535092803, 1
E4E35032804. 2
4535092805 2
4535032806, 4

Question Number : 68 Question Id : 64635023645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“TIR” 1EA:

1 REmOCRONERERE
2) ERATEMARTAE 2020 FEETERRIE
3) ALl RAER B

4) BRI HHEAFRAEZRN

Options:
E4E35092507. 1

E4E350392808. 2
E4E350392809. 3
E4E535092810. 4



Sub-Section Number: 3
Sub-Section 1d: 6463501167
Question Shuffling Allowed : Yes

Question Number : 69 Question Id : 64635023646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“BROEET, EORBATRFK;
KRRNEF, FIBERNER.
XA R AR T AR Rk Y -

1) (41 )

2) Cb iz )

3) ()

4) Al B

Options:

64535092811,
64535092812,
64535092813,
4835092814,

[ N

Question Number : 69 Question Id : 64635023646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“BEMRET, ENRROEREK
KRRNEF, FIBERNER.

XA R AR T AR Rk Y -

1) (41 )

2) Cb iz )

3) (&)

4) CF 5l BT )

Options:

64535092811, 1
64535032812, 2
64535032813 2
48350392814, 4

Question Number : 70 Question Id : 64635023647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

REZEE CFE BMERIER

1) &
2) BiR

3) BEE
4)  HMFE

Options:

64535092815, 1
64535032816, 2
64535032817, 2
4835092818 4



Question Number : 70 Question Id : 64635023647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

REZE R BMERXERX

1) @&
2) Bk

3) HREE
4)  BMSE

Options:

4835092815, 1
4535092816, 2
64535032817, 5
64535092818, 4

Question Number : 71 Question Id : 64635023648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“HRE TR EERESIRE, BETHFHR” ., XE9ER ‘BHFENR’
mRFELNERE:

1) AL
2) RIEFTE
3)  HEHE

4) ‘EHE

Options:
4535092519, 1

E4EZ5092820. 2
E4E35092821. 3
BAE35092822. 4

Question Number : 71 Question Id : 64635023648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



RN T EERIEE R, ERTHIFHER” , XAEE #HFHER
e i R R AR

1) HIEFE
2)  KiEMB
3)  HEEER
4) ‘LR
Options:
64635092819, 1
E4EI5032520, 2
64535032821, 5
4535032822, 4

Question Number : 72 Question Id : 64635023649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1902 £ R RH CGRDREBRZXRER) 7, THIWMLRE 7 “PRAE

7 08

1) B

2)

3) REE

4)  FEE
Options:
64535092823,
64535032824,

645350392825,
64535092826,

[ N

Question Number : 72 Question Id : 64635023649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1902 ERER (B/NMEEERZRXA)Y B, THIFALARE T “/MMiRE

fy” OS2

1)  BFHFE

2) P

3) BB

4)  FRKE
Options:
CACIE092E23.
CAEIEN92E24.

BAE35092825.
E453S092826.

b LI P

Question Number : 73 Question Id : 64635023650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TFHIMAIER AR IE LT EERR?
1 RBAEA

2) @R

3) E—%

4)  $MAE
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REFERE. X e F B “HRE” &:

e

1) e
2) &

3)  AHEE

4)  Zhid
Options:
64535092929,
64525092940,
64535092941,
645350329342,

[

Question Number : 101 Question Id : 64635023678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BRI “KERT” “HAEE” OA, BINEREERIIZ, BREER
REFERE. X Pa)F B “HRE” &:

1) e
2)  &id
3) BB

4)  BhiA

Options:

64835092939, 1
4535092940, 2
64535022941, 5
64535032942, 4

Question Number : 102 Question Id : 64635023679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt A2 __RE=.

1) WHE
2) i
3) EE

4) EB®

Options:

64535092943, 1
64535032944, 2
64835092945 =2
4535092946, 4

Question Number : 102 Question Id : 64635023679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt A2 __RE=.

1) WRE

2) Ml

3) ®EHX
4)  Z=H
Options:

E4E35092943. 1
E4E35092944. 2
64535092945, 3
64535092946, 4

Question Number : 103 Question 1d : 64635023680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BE X T FU3R T A & 4 & R

a) & 1) FZ T
b) &% ii) M
c) KE iii) pUATH

d) g iv) METT

1% IE 2 5 -

1) a-iii, b-iv, G~ d=i

2 @i =i L Gl s d-iv

3) a~11, b-1iv, g d-i11

4)  a-iii, b e d-iv
Options:

64535092947, 1
645350392948, 2
E4E35092948. 3
E4E350392950. 4

Question Number : 103 Question Id : 64635023680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BE X T FU3R T A & 4 & R

a) & 1) FZ T
b) &% ii) M
c) KE iii) pUATH

d) g iv) METT

1% IE 2 5 -

1) a-iii, b-iv, G~ d=i

2 @i =i L Gl s d-iv

3) a~11, b-1iv, g d-i11

4)  a-iii, b e d-iv
Options:

64535092947, 1
645350392948, 2
E4E35092948. 3
E4E350392950. 4

Question Number : 104 Question Id : 64635023681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



L EHE
2) 1B AHE
3)  HiEE

4> A

Options:

64535092951, 1
64535032352, 2
64835092952 =2
E4E35092954 4

Question Number : 104 Question Id : 64635023681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L EE
2) 1B AHE
3) e

4 BAE

Options:

64535092951, 1
64535032952, 2
64535032353 2
E4E35092954 4

Question Number : 105 Question Id : 64635023682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(] E T 771 T

a) PERELNRAREBREAZR HRKER.

b) B BISRRE KR EERUR B &

c) PEETHMARME=KEFA: —RLhZ, Fid;, ZRIFFHE;
=R LIRS WIRATFH .

d) BRILERSTEME=FKA.

B EFIE BRI EFREE.
1> A£#AFIE

2) (¢, (d Axt

3> (¢ A
4) (b) AXF
Options:

645350392955, 1
E4E350392956. 2
EAE350392957. 3
E4E35092958. 4

Question Number : 105 Question Id : 64635023682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(] E T 771 T

a) PERELNRAREBREAZR HRKER.

b) B BISRRE KR EERUR B &

c) PEETHMARME=KEFA: —RLhZ, Fid;, ZRIFFHE;
=R LIRS WIRATFH .

d) BRILERSTEME=FKA.

B EFIE BRI EFREE.
1> A£#AFIE

2) (¢, (d Axt

3> (¢ A
4) (b) AXF
Options:

645350392955, 1
E4E350392956. 2
EAE350392957. 3
E4E35092958. 4

Question Number : 106 Question Id : 64635023683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FHBE—PARIENERZSRTH?

1)  EB

2) W

3)  BRMHATHY

4)  EMF
Options:

64535092959, 1
E4E35092960. 2
E4E35092961. 3
BAE35092962. 4

Question Number : 106 Question Id : 64635023683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHIB— P ARDERIER RS WH ?
1) EWH
2) W
3)  BRMEHATHY
4) EfEW

Options:

64535092959, 1
64535032360, 2
645350329361, 2
E4E35092962. 4

Question Number : 107 Question Id : 64635023684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FHIR—ANBTRE?

1) GFZY , (458, ASY ., EFEK
2) (L&) ., F&) ., (BE) ., (K£)
3) (&), (B&E), (Z£), (ikiE)

4) (RZ) , (K&, (BE), (HE)

Options:

4535092963, 1
64535022964, 2
64535032365, o
64535032366, 4

Question Number : 107 Question 1d : 64635023684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FIIR—ANBTHRE?

1) (FL2Y , (48, AS) ., FEK
2) (BL£) » (FE) , (BE) , (FE)
3) (F£) , (Fe) ., (&Z%E) ., (i)

4) (Baz) ., (KR&), (Fg), he)

Options:

64535092963, 1
E4E350392964. 2
64535032965, 5
4535092966, 4

Question Number : 108 Question Id : 64635023685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o0 I T HF RO B A A , FERRAVEIR ‘RE’
P o

1) ExRBEFER

2) EFEBEREFEK

3)  ZEY

4) EXREBE
Options:

6453503923967, 1
64535092968, 2
EAE3503929649. 3
BAE35092970. 4

Question Number : 108 Question Id : 64635023685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R0 W T HF R E A ACH) , TERRAVEDIR ‘RE’
P

1)  EFREEFR

2) ZEHRRBFER

3) ZEY

4) EFRRBERE

Options:

4535092967, 1
4535032968, 2
645350329369, 2
645350329370, 4

Question Number : 109 Question 1d : 64635023686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A
D L

fLE

2
R

3) fLJ&

4y  FLIK

Options:
E4E25092971. 1

EAE3I5092972. 2
BAE35092973. 3
BAE35092974. 4

Question Number : 109 Question 1d : 64635023686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et
D FLE

fLE

2
!

3) L&

4) L

Options:

64535092971, 1
645350329372 2
E4E35092972. 2
64535092974, 4

Question Number : 110 Question Id : 64635023687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3) 1R

4) =

Options:

64535092975, 1
645350329376, 2
E4E35092977. 2
4535092978, 4

Question Number : 110 Question Id : 64635023687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“KED RIEERMA?
1) #
2)
3) IR

4) =

Options:

64535092975, 1
645350329376, 2
4835092977, 2
4535092978, 4

Question Number : 111 Question Id : 64635023688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“ERE ERERY

1) ¥
2) BR
3) Ht
4) 7%

Options:
E4E35092979. 1

E4E35092980. 2
E4E35092981. 3
BAE35092982. 4

Question Number : 111 Question Id : 64635023688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“ERE ERER

1) &
2) BR
3) HE
4) 7K

Options:

64535092979, 1
645350329380, 2
6453503293381, 2
E4E350929382. 4

Question Number : 112 Question Id : 64635023689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a) HME i) BT
b)yaldk 4 ii) &%
c) ZRE iii) %
d) L% iv) ®

16 IETA & 5%

Lk a=ii, b-1v, o d-111

il Y b=111.s =145 d—1

3) a-iv, b-iii, e=1s d-ii

4) a-iv, b—1, c—114 d-111
Options:

E4E35092983. 1
E4E35092984. 2
B4535092985. 3
645350929586, 4

Question Number : 112 Question 1d : 64635023689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a) HME i) BT
b)yaldk 4 ii) &%
c) ZRE iii) %
d) L% iv) ®

16 IETA & 5%

Lk a=ii, b-1v, o d-111

il Y b=111.s =145 d—1

3) a-iv, b-iii, e=1s d-ii

4) a-iv, b—1, c—114 d-111
Options:

E4E35092983. 1
E4E35092984. 2
B4535092985. 3
645350929586, 4

Question Number : 113 Question 1d : 64635023690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PEEANGBHAEER__ :
1) =RAHE
2) RIVEH
3) ZRULARE

4) BIREHE

Options:

64535092987, 1
645350329388, 2
4835092989 2
4535092990, 4

Question Number : 113 Question Id : 64635023690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

PEEANGBHAER__ :
1) =RAHE
2) HIVEH
3) ZRULAHE

4) BIEAEE

Options:

64535092987, 1
64535032988, 2
645350329389, 2
4835092990 4

Question Number : 114 Question 1d : 64635023691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FE—HMEN BRI =05 E SRR , BERFLINIT
R KRR 22—

1) GXE KD
2) (FakEd)
3)  GBRAERANJLY

4) (EBE)

Options:

64535092991, 1
64535032992, 2
645350329393 2
4835092994 4

Question Number : 114 Question 1d : 64635023691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FE—WEN ARG 8P E SRR , BrELRTT
&R0 KRR 2 —

1) (REKD
2) (FakEie)
3) (BEINJLY

4) (BEE)

Options:
4525092991, 1

EAEZ5092982. 2
E4E3503929393. 3
B4535092954. 4

Question Number : 115 Question Id : 64635023692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



K&

1) B
2) FiE
3) B

4) Wifs

Options:

64535092995, 1
4835092996, 2
4535092997, 2
64535092995, 4

Question Number : 115 Question Id : 64635023692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR
1) 8T
2) F4
3) BE

4) Wifs

Options:

64535092995, 1
4835092996, 2
4535092997, 2
64535022998, 4

Question Number : 116 Question Id : 64635023693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A
L)
2) B
3) N

4] £

Options:

645350929939, 1
E4E350392000. 2
4535092001, 2
64535032002, 4

Question Number : 116 Question Id : 64635023693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5
1) H
2) B
3) N

4] +

Options:

4835092999, 1
E4E35092000. 2
64535022001, 5
64535092002, 4

Question Number : 117 Question Id : 64635023694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Kb s

1) AB=THERR—EAKAETT
2) —EAE=TEEARLHET
3) —EeH B ELATE I RAMK AT
4) BANBE=TFHE—EHET

Options:

64825092003, 1
4535092004, 2
64535022005, o
4535092006, 4

Question Number : 117 Question Id : 64635023694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Kb s

1) AB=THERR—EAKAETT
2) —EBAE=THEEARLET
3) —EeH ERELaTE I RAMK AT
4) BANBE=TFHE—EET

Options:

4825092003,
E4E35092004,
4535093005,
4535093006,

o LIRS

Question Number : 118 Question Id : 64635023695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“NEERFE, WEED” , "EST___  w16#, mR4%N 2740
FITK, RPEE KKK

1) HF
2) 18w
3) g

4) ¥

Options:

64535093007, 1
64535033008, 2
4835092009 2
4535092010, 4

Question Number : 118 Question Id : 64635023695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“\EBREE, WEED” , FESMT ___ &ikE, miRA4% 2740

FHT K, APEEZRKKH.

1) HA

2) §®

3) [

4) i
Options:
64535093007,
64535033008,

545350393009,
645350393010,

[ N Y

Question Number : 119 Question Id : 64635023696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PEEA “WUEF” 78, . 1A%

1) HLES

)
[IK

3) &
4) 2%

Options:

64535093011, 1
64535033012, 2
64535033013 =
64835092014, 4

Question Number : 119 Question Id : 64635023696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

PEL “NUEF” a8, . TH%.

1) #LES

)
|IK

3) B
4) 3%

Options:

64835093011, 1
64535092012, 2
64535092012
64535033014, 4

Question Number : 120 Question Id : 64635023697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(&) tEmpIaRAR. B =2,

1) X

2} L
3) 41

4) T

Options:

64535093015, 1
4535092016, 2
64535092017, 2
64535033015, 4

Question Number : 120 Question Id : 64635023697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(&) tEmpIaEAR. B =K,

1) X

2) Lk
3)

4) Tk

Options:

64535093015, 1
64535092016, 2
64535033017, 2
64535033018, 4

Question Number : 121 Question 1d : 64635023698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YEEE RSB R IE T AR FIEm R &

a) VIR DL

b) B4R

c) BATEMMATILH T2
d) Bw

e) FAfF HLXID

B R
1k d. & 8 B B

2 b ode @ Em B
3 by a8 & d, o

2 d. b 8 B &

Options:

64535093019,
64535093020,
4835093021,
4535093022,

o P

Question Number : 121 Question Id : 64635023698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YEEE RSB R IE T AR FIEm R &

a) VIR DL

b) B4R

c) BATEMMATILH T2
d) Bw

e) FAfF HLXID

B R
1k d. & 8 B B

Y deoss w5 B
3 by a8 & d, o

2 d. b 8 B &

Options:

64535093019,
64535093020,
4835093021,
4535093022,

o P

Sub-Section Number: 4
Sub-Section 1d: 6463501168
Question Shuffling Allowed : Yes

Question Id : 64635023699 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (122 to 126)
Cuesticon Label | Comprehension



CFEESRKHEFETOET, MAZ—HHSREENH LT, IR
Bifhid = 50 L BIEA 66 K, A4, MEREEBEN AL, 1EX
AEFHR . RERZ, 8BRAERHR, CHAFEMNBIERS TRAX—
WM. ERZERER, BRE/RSZ. REXNEME, FHERANE
=—Ks

SREF R FIRIEQ— N ERRERERL, [ MERIBEMDS
MERIAR R E. ALTRM AME MERIER “NKE” 28,
EREMNFAERELEL. THEEALEFE, BAREEAAEZRRES.
A IXBEFFAHXIL AR IR, AR RESENE TREIFRS. T
JEBE B BR/NARSMER, A—PAR, A=ZAANPERN, A7+
ZPARE2H. BRKHE T HREMPARGCRAER. 0ELFChF,
RAWGFE, B R, ZHE=ANMAN—EL, ANEZESHEELE M
BRI RFKE, EFBHERA. SREEENTERF A MEASRE
MEE. WEKBATEERN, LEEEEFEFHE, FEfiAFTBO.

Sub questions

Question Number : 122 Question 1d : 64635023700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BREWE MERERIFZE, FIIH—NARRRE:
1) JRERKANZEE

2) ML EEAL MEIESEFHE

3) EFPISRARR T

4) JTRJE R S0 E A R RV T

Options:
64535093023, 1



EAE350393024. 2
B4535093025. 3
EAE535093026. 4

Question Number : 123 Question 1d : 64635023701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

PATEAMIEERN IZRUFF?

1) fhiRERERBER 880

2) thETREZMBEE

3) fEARMER. KE¥ERZE, SRMNGHRBHA

4) REMHICERSK

Options:

64535093027,
64535093028,
483509320239,
4535092030,

[ N

Question Number : 124 Question Id : 64635023702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SRFHER—KBEEXME, REAEHE
1) JAfE S R T AT

2) ITHEAREE, FEeE B

3) JHMERIAG S SR O

4) KRR R T & B K IREVER

Options:
4535093031, 1
64535092032, 2

E4E535093033. 3



EAE35033024. 4

Question Number : 125 Question Id : 64635023703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R ERES, “NKE” 2EEEE:
D JTHEE “N\KE” EPHTERT X

2) BIANFELZNRIE

3) THMER “NAKE” BR—ZRE

4) “NKE” 8 MEREST OKMHE

Options:

4535093035, 1
64535092036, 2
64535033037, 2
64535033035, 4

Question Number : 126 Question 1d : 64635023704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SREE MEREFENEZERERZ:
1) [ ANE IR LR DI R 2

2) JTHAEREFZE

3) JTANERIIL LA B

4) THER&MER/RAS AR

Options:

64535093039, 1
64535033040, 2
64535033041, =
4835092042 4



Question Id : 64635023699 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (122 to 126)
Juestion Label - Comprehension

ERESRKHEFETRWMT, NAZX—HHESREENHKLS, BITXR
Wit £ HIFILBERA 66 2, A4, MERECHENOSL. (EX
KEZFR . RERZE, 8BRAERHR, CHAFEMRNBIEES TR
. EXZEER, BREBREZ. REXNE ME, FHERAHE
=— s

FIRET FXFURERN — P ERRERERL, | MEHRTIMEMS
ERARAMNE. L TRT AR MERILRE “A\KE” 28,
ERENHFEELL. THEEALFE. HARGERREZRERES.
Am. X EBRFRINGD ARG, AR RaeE TREFEZMS. T
BB B BN RS MHER, A—PMARN, A=ZAANNER, BFET
ZPAREEM. BRKBLE FBRENPREGRNER. MELFHF,
AAHE, BRAMR, ZHR=ATA—E&EY, ANEZEcHZEL M
BIRSNRFIFE, EFHBHEAR. SRREENTREF A MEASRE
M. FEARBLA=HERN, BEEaHEEHA, FEFLAFBRO.

Sub questions

Question Number : 122 Question Id : 64635023700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SREXRE MERERIEE, T AERE:
D) 7 RERK/NEFEE

2) HhA LA E &L MBS ERIRE

3) RFWERARE ST A

4) ] JE R TE A = 4 AR [E] B0 R0 T

Options:

64835093023, 1
4535092024, 2
64535092025, o
64535033026, 4

Question Number : 123 Question Id : 64635023701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PATEAFMIEBE R IR F?

1) R EREREER B A0

2) MhEFREMEZEE

3) fEAREH. R¥ERFK, SRMEGREHR

4) mREMBICEMEH

Options:

4535093027, 1
64535092028, 2
64535033029, =
64535033030, 4

Question Number : 124 Question 1d : 64635023702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SRFHER —KBEEX ME, REAEHE
1) JAE B At R 5 AT

2) ITREASFEE, FEaBET X

3) I HERIAGE S RO

4) KRR R T &R Kz REVER

Options:

64535093031, 1
64535033032, 2
64535033033 2
E4E3503920324. 4

Question Number : 125 Question Id : 64635023703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1ZE EAREN, “NKE” TEMEEE:
D JTHEE “N\KE” RPEERTS

2) BIANFELZNRIE

3) THER “NAKE” BR—ZIRE

4) “NKE” 8 MERET O/

Options:

64535093035, 1
E4E350392036. 2
4535092027, 5
645350392028, 4

Question Number : 126 Question Id : 64635023704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SREE MEREHENFEREZ:
1) [ ANE IR LB O R

2) THBEREFE

3) JTANERIRID LA B Im

4) THEREMESSAHE

Options:

645350930339, 1
E4E35092040. 2
4535092041, =2
64535092042, 4

Sub-Section Number: 5
Sub-Section 1d: 6463501169
Question Shuffling Allowed : Yes

Question Number : 127 Question Id : 64635023705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks: 0
THI AR 1962 FEPENHEFRITRZ—:
(1) TRBAME
(2) B3 AR R
(3) 25 o Rk 26 4 BN B SZ e

(4) P X 40 1 )

Options:

64535093043, 1
64535033044, 2
648350392045 =2
4535092046, 4



Question Number : 127 Question Id : 64635023705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THIEENAE 1962 EFENRFHAERZ —:

(1) JRBHHEE
(2) Pl g SRER IE) A
(3) 72 oh i ff 64 BN 2 4P

(4) T X 4 1 )

Options:

64535093043, 1
64535033044, 2
648350392045 =2
4535092046, 4

Question Number : 128 Question Id : 64635023706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PEHBUFREN “—F—B” BIERNESBREEIE__ i

1) BE¥HE
2) BEER
3) BEFIFR
4) FBE

Options:

64535093047, 1
64535033048, 2
E4E35092049. =2
4535092050, 4

Question Number : 128 Question Id : 64635023706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PEHBFRERN “—W—B” BRNEFESREESE__ i

1) BEF¥HE
2) HIEEER
3) AL
4) A EE

Options:

64535093047, 1
E4E350392048. 2
64535092049, 5
645350392050 4

Question Number : 129 Question Id : 64635023707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ZEE T EEAEX HIR A .

1) &f
2) BT
3) FIEF
4) Z¥

Options:

4535093051, 1
64535032052, 2
64535033053 =
64535033054, 4

Question Number : 129 Question 1d : 64635023707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



R EEAX HIER A .

1) &F
2) BT
3) FIETF
4) Z1

Options:

4535093051, 1
64535092052, 2
64535033053 =
64535033054, 4

Question Number : 130 Question 1d : 64635023708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AEHBOREPEAEL, A LLITHREELRRE:
(1) 1B
(2) %
(3)  ZLL

(4) &

Options:

64535093055, 1
4835092056, 2
4535092057, 2
64535092058, 4

Question Number : 130 Question Id : 64635023708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



hEENEPEHNAEL, BALLTEEELERE:
(1) 8L
(2) %
(3)  F&

(4) &L

Options:

64535093055, 1
64535092056, 2
64535033057, =
64535033058, 4

Question Number : 131 Question 1d : 64635023709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BC X :

(a) JEHHH (i) Thraid
(b) # & IF KRR (ii) Zt%
(c) BIF& (iii) ig£

(d) EHLK (iv) R T

EIETAZEE:

(1) a-iv. b-iii, e-i, d-ii
(2) a-iii, b-iv, c-i, d-ii
(3 a-iii, b-iw c-ii, d4

(4} a~i, b=iw, g-iii, d=ii

Options:

4535093059, 1
64535092060, 2
64535033061, =
64535033062, 4

Question Number : 131 Question 1d : 64635023709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BC X :

(a) JEHHH (i) Thraid
(b) # & IF KRR (ii) Zt%
(c) BIF& (iii) ig£

(d) EHLK (iv) R T

EIETAZEE:

(1) a-iv. b-iii, e-i, d-ii
(2) a-iii, b-iv, c-i, d-ii
(3 a-iii, b-iw c-ii, d4

(4} a~i, b=iw, g-iii, d=ii

Options:

4535093059, 1
64535092060, 2
64535033061, =
64535033062, 4

Question Number : 132 Question 1d : 64635023710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FVERRMNERE “—HF” . XAER “—EF” NEER

(1) M|MIHHMF
(2) EEFUT
(3) HAERHID

4) DAZETHEAR

Options:

64535093063,
64535093064,
4835093065,
4535092066,

[ N

Question Number : 132 Question Id : 64635023710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FERERMNERE “—HF” . XAER “—IEF” NEER

(1) SSHEF
(2) BEZ4OS
(3) HBAEHBIC

4) Daz=2TEAR

Options:

64535093063, 1
64535033064, 2
64535033065, =
48350392066, 4



Question Number : 133 Question Id : 64635023711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEIRPRELED, ALGAEERKEEMAEP. HP “8
:I:J‘? a HDJJHDE” i IE%:@H E%%Bﬁ\ﬁ%?

() BEES

(2) WhG=s

(3 BF=
4 RHFE
Options:

EAE35093067. 1
E4E35093068. 2
B4E5350930645. 3
64535033070, 4

Question Number : 133 Question 1d : 64635023711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEWNARERES, ALEARIEEKEZMTSH. Hb “A
:I:J‘? s HI:IJJHDEH . IE%:@H E%%Bﬁ\j‘j——‘ﬁ-?

() BEEF

(2) WHE

(3) BFF
4 RFs
Options:

645350393067 1
E4E3503306E. 2
EAE350330649. 3
EAE35093070. 4



Question Number : 134 Question Id : 64635023712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
DB BEAABARMS RN “DR” . BE” . “HR” . “BR”
BT T AR ?

(1) &
(2) =B’
(3) T Fm

(4) =&

Options:

4535093071, 1
64535092072, 2
64535033073 2
64535033074, 4

Question Number : 134 Question 1d : 64635023712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
POE BV RABAR R “WR” . “EBE” . “mE” . “BR”
2B T AR ?

(1) B
(2) BE
(3) FTF M

(4) HFB

Options:

64835093071, 1
E4E35092072. 2
4535092072, 5
64535092074, 4



Question Number : 135 Question Id : 64635023713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MEmALE RuEHAT

(1) i
(2) #Ez
(3) HREZE. FHE

(4) RiB

Options:

64535093075, 1
64535033076, 2
64535033077, 2
4835092078, 4

Question Number : 135 Question Id : 64635023713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MEmdbEl AGEEALT

() i
(2) ##
(3) EYEZE. FHEI

(4) wig

Options:

64535093075, 1
4835032076, 2
E4E35092077. 2
64535092078, 4

Question Number : 136 Question Id : 64635023714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BoXT :

(a) MENE
(b) HHE5F
(c) H

d =&

EIEE SR

(1) a-iv, b-ii, c-i, d-iii

(2) a-iii, b-iv, c-ii,
(3) a-ii, b-iii, c-iv,

(4] a-iid, b-ii;, e-Iv,

Options:

64535093079, 1
64535033080, 2
64835092081, 2
4535092082, 4

(i) =m
(ii) b=
(1ii) ©HAH

(iv) fiyb

Question Number : 136 Question Id : 64635023714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BoXT :

(a) MENE
(b) HHE5F
(c) H

d =&

EIEE SR

(1) a-iv, b-ii, c-i, d-iii

(2) a-iii, b-iv, c-ii,
(3) a-ii, b-iii, c-iv,

(4] a-iid, b-ii;, e-Iv,

Options:

64535093079, 1
64535033080, 2
64835092081, 2
4535092082, 4

(i) =m
(ii) b=
(1ii) ©HAH

(iv) fiyb

Question Number : 137 Question Id : 64635023715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i

“REEFE" TRIERR ‘P ek :

(1)  ban

(2) bai

(3)  tuo

(4) pai
Options:

E4E35093083. 1
E4E35093084. 2
E4535093085. 3
645350393056, 4

Question Number : 137 Question 1d : 64635023715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“WRREZHE T AGE R B R .

(1) ban

(2) bai

(3)  tud

(4) pai
Options:

645350393083, 1
E4E35033084. 2
EAE35033085. 3
EAE35093086. 4

Question Number : 138 Question Id : 64635023716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o & BEN T B % S IS R IR A TE T 2
(1) &=Z

(2) K

(3) EFEY

(4) BEFY

Options:

64535093087, 1
64535033088, 2
4835092089 2
4535092090, 4

Question Number : 138 Question Id : 64635023716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o & G985 B % S 62 TR e 2
(1) %=Z

(2) KT

(3) EFEY

(4) BEFT

Options:

64535093087, 1
64535033088, 2
64535033089, =
4835092090, 4

Question Number : 139 Question Id : 64635023717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hig-atER R AL F

1) 2001 €

2) 20054

3) 20104

4) 2015 €
Options:

E4535093091. 1
B4535093082. 2
645350393033, 3
64535093034, 4

Question Number : 139 Question Id : 64635023717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EigEaERRNALFE -

1) 2001 €

2) 20054

3) 2010 £

4) 2015 =
Options:

E4E35093091. 1
E4E35093082. 2
64535093083, 3
645350393034, 4

Question Number : 140 Question Id : 64635023718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“ENEAR—R—F, MEXMEERIFXETEENRTE” —IHAH
e HE LAY ?

1)

2)

3)

4)

Options:

4535093095,
4535093096,
64535093097,
64535093098,

4A;

(ofi

BER
B

=

T 2

o LI M

Question Number : 140 Question 1d : 64635023718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“ENEAR—R—F, MEXMHK EERFXEFEENTE” —HA)ih
& HE LAY ?

1)

2)

3

4)

Options:

64535093035,
E4E35093096,
4535093097,
4535093098,

483

(o

BER
B

lm —

BTl

o LIPS

Question Number : 141 Question Id : 64635023719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



£ T FISCFAE R PR AR /D
1) (B @ IE1%)

2) (RTED

3)  (aE)

4) KT

Options:

64535093099,
64535093100,
64535093101,
4835092102,

[ N

Question Number : 141 Question Id : 64635023719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

£ FAISCFAE RPN AR/
L) (Fa @ IE1%)

2)  CGRmE

3) (O HE)

4) (KT

Options:

4535093099,
4535093100,
64535093101,
64535093102,

L N

Question Number : 142 Question 1d : 64635023720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



XMEFHTE T 55 %, HABERERE L+ ZELTIBMNLE, B
BRI E . EPTAZR__ .

1) &
2) &1
3) #AE

4) LA
Options:
452509210201
64535092104, 2

E4535093105. 3
64535093106, 4

Question Number : 142 Question 1d : 64635023720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
XAMEZRE T 55 &, HABREREEAZ L+ ELTEMNNE, £
BRI R . ETAR_ .

1) &
2) 81
3) A&
4) LML
Options:
64535093103, 1
64535033104, 2
64835092105 2
4535092106, 4

Question Number : 143 Question Id : 64635023721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FTTAANST S, BAAE_

1) Iz

2) B

3)

4)  #
Options:

64535093107, 1
645350393108, 2
64535093109, 3
64535093110, 4

Question Number : 143 Question Id : 64635023721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ITAAFT A, BAME_

1) Iz

2) B

3) #

4)  #
Options:

E4535093107. 1
64535093108, 2
645350393109, 3
64535093110, 4

Question Number : 144 Question Id : 64635023722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BEEHEE___ MENTFE.
1) B{X
2) B
3) i\

4) R

Options:

64535093111, 1
64535033112, 2
64835092112 2
4535092114 4

Question Number : 144 Question Id : 64635023722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EEHAEE__ _BHMEAFEAE.
1) B4
2) B
3) E

4) R

Options:

64635093111, 1
64535033112, 2
64535033113 =
64835092114 4

Question Number : 145 Question 1d : 64635023723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT

13 d=2L
2) BRI
3) URIL
4) IRIL

Options:

64535093115, 1
64535033116, 2
64835092117, 2
4535092118 4

Question Number : 145 Question Id : 64635023723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

KAt

1) =it
2) BRRIT
3) URIL
4) IRYL

Options:

64535093115, 1
64535033116, 2
64535033117, 2
64835092118 4

Question Number : 146 Question 1d : 64635023724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THIH— R “ORAE” 2
1) BEAK
2) "G
3) MEANE

4) AT

Options:

48235092119, 1
4535092120 2
64535092121, 5
64535092122, 4

Question Number : 146 Question Id : 64635023724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
THHE—RR “O%TE” 2
1) AR
2) BEAME
3) oA

4) WAT

Options:

64535092119 1
64535092120, 2
64535092121,
64535033122, 4

Question Number : 147 Question Id : 64635023725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e X
a) B (i) AEA

b) TRk (ii) HX

c) MR (iii) BAWIE

d)  x%El Civ) FE/)

IR AR

1) a1, b-1v, E~111; d-1i1

2) a-ii, b-iv, g o 59 o |

3) a-ii, b-iwv By d=111

4) a-iv, b-1i, G 1, d-i1i
Options:

64535093123, 1
64535093124, 2
64535093125 3
E4E35093126. 4

Question Number : 147 Question Id : 64635023725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e X
a) B (i) AEA

b) TRk (ii) HX

c) MR (iii) BAWIE

d)  x%El Civ) FE/)

IR AR

1) a1, b-1v, E~111; d-1i1

2) a-ii, b-iv, g o 59 o |

3) a-ii, b-iwv By d=111

4) a-iv, b-1i, G 1, d-i1i
Options:

64535093123, 1
64535093124, 2
64535093125 3
E4E35093126. 4

Question Number : 148 Question Id : 64635023726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SHEPEE -SG9 b AL Y o

1) 1916 4

2) 1919 %

3) 1930 £

4) 1921 &
Options:

64535093127, 1
64535093128, 2
E4E35093129. 3
E4E35092130. 4

Question Number : 148 Question Id : 64635023726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A B SR E AL Y o

1) 1916 4

2) 19194

3) 1930 &

4) 1921 &
Options:

64535093127, 1
E4E35093128. 2
E4E35093129. 3
64535093120, 4

Question Number : 149 Question Id : 64635023727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BB A D IR S RIAARAIES ?

1} B2
2) ER

3) R
4) FHtE

Options:
64535093131,

EAE350393132.
E4E35093133.
B4535093134.

[ N

Question Number : 149 Question Id : 64635023727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RO A R R IR S RIAARAIESR ?

1} EFIT
2) ER

3) R
4) FHiE

Options:

64535093131,
64535093132,
64535093133,
4835093134,

[ N

Question Number : 150 Question Id : 64635023728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT

1 B

2) MEEE
3 BN

4)  WE

Options:

64535093135, 1
64535033136, 2
64535033137, 2
E4E3503921328. 4

Question Number : 150 Question Id : 64635023728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT

1) B

2) ME=®®
3 ZmN

4) WE

Options:

4535093135, 1
64535092136, 2
64535033137, 2
64535033138, 4



